—— A
N = 0 & AF S 99 N A
20228 = 20l BIIEEESH A
2N Aol AIE A
HE: o= 2 OFE 33
SOl XBALE AW (HETAY SHE) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Aol AP A 14,977,677 14,358,404 619,273
= 1,906,500
g 1,154,000
= 2,528,000
Al 9,389,177
S= 2 EAE B2 14,354,983 13,641,317 713,666
= 1,906,500
g 1,154,000
& 2,528,000
Al 8,766,483
NgMLEE 22U (AT AIY SESIH) 12,092,566 13,373,224 N 1,280,658
= 16,500
g 1,154,000
& 2,528,000
Al 8,394,066
5 S22 7,222,314 7,209,747 12,567
201 et 9| 32,000 32,000 0
01 AR 22l ] 10,400 10,400 0
OAr2 22| 4l 10,400
02 2224 H| 21,600 21,600 0
O232%H(JIgd HII22) 21,600
202 044 5,688 14,031 A8,343
01 2L Y| 5,688 12,006 AN6,318
O=Wo | 5,688
204 &R AH| 11,520 12,480 A 960
03 EHY LAY 11,520 12,480 A 960
OSEHYR+HS S| 11,520
206 M = dl 2,400,000 2,400,000 0
01 X2 4l 2,400,000 2,400,000 0
O&F=31¢ 2,400,000
207 I & d| 13,000 38,450 AN 25,450
01 A& | 13,000 34,000 A 21,000
OZAEANEA 13,000
308 XX EHSO|IA 3,219,686 3,196,838 22,848
07 AIXSHH2ESSZ2 47,000 47,000 0
OZdaLE AEHZ 47,000
11 2 2SHUSHEAXNE AIS Y| 3,172,686 3,149,838 22,848
OEe=2% /A=eUIH(2EH!l) 3,172,686
401 AIEHIZ 201 Y| 200,000 200,000 0
01 Al&H| 200,000 200,000 0
OAlAE Z 42 AHHI 200,000




SA: ABIAZAIYA
Bu: ol 2 O¥N 23
ol KBASE AT (HETAY SHE) CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 1,340,420 1,315,948 24,472
02 SO 2SOCHst 2 X 2 A I 1,340,420 1,315,948 24,472
OXNgaxE SE2E ASEUIH(AEUI 1,340,420
SOHE Mass L (A4 M) (HSAY) 2,528,000 4,178,000 A 1,650,000
< 2,528,000
401 Al HI & 2B 2,528,000 4,178,000 A 1,650,000
< 2,528,000
01 A& HI 2,528,000 4,162,959 A 1,634,959
O=sgXg a5 s Y =Xl & 1,580,000
< 1,580,000
OS0ZE 4284 HL(HTOIS 445 Aa
S AH) 948,000
< 948,000
ArABSRY FUXE 88,252 103,477 A 15,225
= 16,500
Al 71,752
301 L EAF 88,252 103,477 A15,225
= 16,500
Al 71,752
12 J|EtE 43 88,252 103,477 A 15,225
OM+aE52d =X 88,252
= 16,500
Al 71,752
el HEAMY 1,654,000 1,882,000 A 228,000
s 1,154,000
Al 500,000
T AEH X2 1,654,000 1,882,000 A 228,000
s 1,154,000
Al 500,000
01 A& HI 654,000 1,873,194 A 1,219,194
OEZelZ3+Z HEAY 654,000
s 654,000
02 Zeltl 1,000,000 0 1,000,000
OE€eld=% HEAY 1,000,000
s 500,000
Al 500,000
NXelz &5 AESA 300,000 0 300,000
401 AIEHIZ 28I 300,000 0 300,000
INE=1:1] 297,840 0 297,840
OXXelE 4% MEBA 297,840
03 AIE 2 0H bl 2,160 0 2,160
OXNRXelEs a5 S A 2,160
Nats d% AATA 300,000 0 300,000




2N
X ZH -
L= B

el

=12 0z

ST ALY A
S 2 oFx =3
GAST AR (ALTAY SE3H)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 300,000 0 300,000
01 A& HI 297,840 0 297,840
OMalE &E ALIA 297,840
03 A2 S THHI 2,160 0 2,160
OKNstE &=k MEZA 2,160
AT A SRl (AT AY SESIH) 2,262,417 268,093 1,994,324
= 1,890,000
Al 372,417
ol Bl gl 128,617 148,093 N 19,476
801 ol I 128,617 148,093 A 19,476
01 £etoildl gl 128,617 148,093 N 19,476
Ooldl gl 128,617
= Jeyd 100,000 50,000 50,000
401 Al HI K 201 I 100,000 50,000 50,000
01 A& HI 100,000 50,000 50,000
OZF=+% YN EH 100,000
Nga+E SA2el 2 2AH AL 70,000 70,000 0
401 Al HIZ 2018 70,000 70,000 0
01 A& HI 70,000 70,000 0
Oastd M4 & HHISA 70,000
ADIE 22 2te| elZet REAY 1,782,800 0 1,782,800
= 1,763,000
Al 19,800
401 AIEHI L 2 CHYI 1,782,800 0 1,782,800
= 1,763,000
Al 19,800
01 A& HI 1,716,800 0 1,716,800
OAQLE &2 ae| elmet ASAY 1,716,800
= 1,716,800
02 Zeldl 66,000 0 66,000
OAQLE 22zl elmet REAY 66,000
= 46,200
Al 19,800
EHERAl = A22 FLUIAM X 181,000 0 181,000
= 127,000
Al 54,000
401 AIEHI L 201 181,000 0 181,000
= 127,000
Al 54,000
01 A& HI 181,000 0 181,000
OHHEAl == &x=22 HUXIA X2 181,000
= 127,000
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